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v.Sc. & AH. (Second Professional) Examination — 2022
B. Animal Genetics and Breeding Paper -1

[y Thveo Howrs Maximum Marks: 100
ime:

T Weightage: 20

1 (Biostatistics and Computer Application)
Unit-

Unit-2 (Principles of Animal and Population Genetics)
ni-=

Attempt all questions

Answer of all questipns is to be written in the space provided along with
the question in question-booklet.

Overwriting is not allowed in the objective type question.
ol Fill in the blanks. (20x0.5 = 10)
;1 When total observations in the data are divided in to four equal parts, each part

is called as

B is a simple arithmetical process of sorting out the

components of variation in a given data.

13 The site for protein synthesis is

14 isthe diagrammatically representation of the chromosomes
arranged in descending order of length. |

1.5 Geometric mean of' 1, 3, 9 is

1.6 The range of u + 20 for a normal distribution includes % of the

observations.

L7 The coefficient of correlation was given by

I8 Baldness in human being is a character.
1.9 o g3 s . , y .
‘dividual with one extra chromosome in a single pair of chromosome is
WI1 as
1 ¥ :
- ee random mating population p=1.0, then proportion of heterozygote
pulation will be
1
++ between non homologous chromosome is known as
S
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112" The genotypic ratio of dihybrid cross is

1.13 is an exception to independent assortment.

R e L ——

I.14 Mutation in the gene leading to an alteration in protein expression is

mutation,

—an

.15 The change of gene frequency resulting from sampling in small populai

known as

.16 Asymmetry of the frequency distribution is known as

- —

1.17 Basic principle not used in completely randomized design is

1.18 The chromosome complement on Turner’s syndrome is

1.19 For linked genes, maximum proportions of parental types of progenies prody

in back cross are 2 B _%. "
1.20 A 12:3:1/;31%@5 F; is an example of : IV
vl ,

Q.2 Choose the most suitable answer and write the number of the corree
answer 1 or 2 or 3 or 4 in the space given against each sub question:

(20x0.5 = 10
2.1 Which of the following variable is not continuous type ( )
1. Fat%
2. Litter size
3. Milk Yield
4. Wool Yield ‘
2.2 Replication=6& treatment =5 in CRD, then error degree of freedom will be
( X
1. 20
2. 25
3. 16
4. 12
2.3  The criss cross pattern of inheritance follows in traits ( )
1. Sex linked traits
2. Sex limited traits
3. Sex influence traits
4. All of these :
2.4  The theory of Pangenesis was given by ( )

1. William Bateson
Jan Swammerdam
Charles Darwin

2.
3.
4. August Weismann
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m an individual with AB genot

214 Percentage of AB gamete fro

over of 10%
1. 10%

2. 90%
3. 50%
4. 45%

215 A Drosophila fly with seX in
|. Superfemale
2. Intersex
3. Supermale
4. Normal male

2.16 Heritability in broad sense is
. VA/VP

dex of 0.50 18

defined as

2.17 = Type of relationship ber and egg weight 1S

. positive or negative
4. not related
2.18 Location of two dominant gen
ofa chromosome pair.
1. Repulsion Phase
2. Transition
3. Coupling phase
4. Transversion
2.19 A Drosophila fly with sex index of 0.33 is
1. Superfemale
2. Intersex
3. Supermale
4. Normal male
220 Coiling pattern in snail is the example of :
1. Nuclear inheritance Vi
2. Maternal effect
3. Mendelian inheritance
4. Sex influenced trait.
Q.3 Attempt any ten out of the followu{g twelve questions. Answ
question should be in 2 to 3 lines.  ~ (10x2.0:

3.1  Define: Standard Normal Dev/ioz

“ T, g

es of two linked gene pairs on separ:

- -

ey ”r‘h |
nd
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3.8  Define: Lethal alleles. Enlist various examples.

3.9  Explain: cytoplasmic inbéritance. Enlist at least two examples of;t‘i'

U
o
I

3.10 efine: Breeding value. How it is related to transmitting ability.

L
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Attempt any SIX ¢
v qucstion should be

Define repea
rcpcalabilitY? Vhy
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Law. Which force changes gene frequen

44  State Hardy-Weinberg
small population?




. Differentiate

\ .
"\(;'.4
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48  Differentiate between : Mutually exclusivé and independent even

.----------_-_--,_-___-_-___-_----—_____-.._--_-__..-....--

...........................................................
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‘ ‘Q,SxAnswer the following question in 1.7 Pages (attempg any two), ¢
i 4 5 4 ’
& 5.1 Wha:t are probability distributiongo Enlist them ich distributi
L 't continuous frequ'ency data? Describe propeniesho\?llglsgn(:lsg{b? tlb
; '5,2 ~ State Hardy-Welr_lber.g law of genetic €quilibriyy, Enlist ¢ 1Stri
, X frcque_ncy. I?esgr}be 1n detaj] selection against rec' v ul
| ;53 Explain herltablhty. Describe iy, detailg Methog of e

S of estimation
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